Name Al’lswer Ke_y Date

Lighten Up

You have two switches (A and B) and two lights (L1 and L2). Both switches are initially
off (and both lights are off).

What happens when you:

A B Turn on switch A?
Turn on switch B?
ﬁ H Turn on both A and B at the same time?
R R Fill in the truth table below to figure out the answer.

Switches Logic gates Lights

A B|l abcdefgh |[L1L2
BothA&Boff Q0 O 0 0 0 0 0 O O 0O O Bothlights off
onyBon Q 4 10110110 |1 0 sBumonts
OnlyAon 4 0 1 0 1 1 1 1 0 1 0 1 Atumsonl2
sothasBon 4 1 | 01 1 1 1 0 0 0 [ 0 0 20 et
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